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2007
SEMESTRAL ASSESSMENT 2
PRIMARY 5
 MATHEMATICS
DURATION : 2h 15 min

DATE : 25 OCT 2007

INSTRUCTIONS
Do not open the bookiet until you are foid to do so.
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Follow all instructions.
Answer all quesiions.
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Bocklet A

Questions 1 to 10 carry 1 mark each. s 15 11

For each question, four options are given. Gne o;‘ them és the co.rfec:t answer.
Make your choice (1, 2, 3 or 4). Sharle the ovi (1.2, 3 2l

Sheoot. (20 marks)
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1. Which one of the following is the best estimate for 85 x 5737

(1)  80x 500
(2) 80 x600
(3) 90 x500
(4)  90x600

9. What is the quotient when 3267 is divided by 167

1y 24
.rn) 54
3 204
(4) 544
: 7 . o ,
3. Marie had ‘Tﬂ m of wire. She cut it ints 5 equal pieces What was the length of

each piece of wire?

1 Lom
J 50 .
. 2
a2y 5 om
5( )oog
1
(3 3y m
) 57 m
710
.
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Express B months as a fraction of Z years.

R
1
2 .
@
1}
(3) =
3
1
4}y -
(4) 5
=1 . i 4 ———— 2 0518 Hiy 1
The vaiue of 100 + 10t 1000 _;0 the nearest hundredih is
(1) .01
{2} 016
{3) 0.012

(4)  0.156

There are 40 pupils in Class SA. 18 of ithe. pupils wear spectacies. What
percentage of the pupts in Class 5A does not wear spectacles?

(1} 9%

(2) 45%
(3) -55%
(4) 82%

Jack and his cousin had 465 marbles each. Jenny had 330 marbles while her
sister had none. Find the average number of marbles of the children.

(1) 285
(2) 315
(3) 398
{4) 420

gb
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8 Vollu had to take a pill 4 tmes a day. rle nad a boltle containing 186 pilis.

guilateral iriangle. ABC is 2 straight

o
How many weeks would he take 1o finish a! tthe pils?
iy 7
(2) 49
(3) 12
4y 754
9. inthe figure not drawn to scalg,
fine and BC = BD. Find £ BDC.
G
ive
B
() 15~
() 30°
{3y &8
(4)y -120°

10.  The volume of a 8 cm cube is

()
(2)
(3)
(4)

24 em
84 cm
182 cm

512cm™

oW W W

11. - 2 similar watches cost $33 less than 3 similar pens If the pens cost $45 each,
find the cost of each watcn.

o
g
(4)

$6

$39
351
$84
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12, Danny spent r of his money cn a8 bag aiw By of the rernainder o some
snacks. What percentage of his money had heleft?
(1y  13%

{2y 20%
(3 40%
(4 60%
1 _

13, There were 780 people in a cinema. After 5 of the women and 150 men left ihe
cinema, the ratio of the number of men to that of women becames 1 3. Find the
number of men in the cinema at first.

(1} e
{2y 240
(3) 270
{4y 336

14.  The figure below is not drawn to scale. What percen% a of the ﬂgure is
shaded? ~
(1) 24%

(2 34%
3y 51%
{4) 65%
88
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he bar graph below shows the monthly sales of handbags in a shop.

Monthiy Sales of Handbags

January ?ébg’uary March

Months

v which monih was the decrease in sales of handbags the grealest as
compared with the previous monih?

(1) March

{2} April
3y May
(4 June

PS5 Math SA2 2007 ' 5



Name: - ot H

Class: Primary 5

Bookiet B

{Quesiions 16 to 25 carry 1 mark sach.

Questicns 26 to 35 camry 2 marks each.

Show your working clearly in the space bsiow each questiocn and write your answers on
the blanks provided. For questions which require units, give your answers in the units

stated. {30 marks)

16.  In £42.603, which digitis in the tentrsplace?

Ans:
17. Find the value of 567 x 28
Ans:
11 )
18. Evaluate 7-- - —
8 4
Ans:

[=h]
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14, At aparty, the ratio of the number of parants to boys was 7« 4. Theratio of the
mumber of boys to the number of girls was 2 1 5. Find the ratio of the number of
parenis w he number of airfs. Express your answer in the simplest jorm.

Ans:

20, Using.a profractor, measure / = in the figure below.

S

Ans:

24 10 exercise books weigh as heavy as 2 workbooks I each exercise book

weighs 41.4 g, find the mass of 1 workbcok.

A
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22 1409, of a number 15 84, Find the number.

Ans:

23,  The total cost of 5 blue dresses is $12l8 and 3 red dresses cost $48 each. What

is the average cost of the 8 dres

&1

-~y

~
(>3 4

Ans:

5

24 . Whenthe metal ball is taken out from the container-below. the watst {evel.dro

Ans:
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A bus driver earns $3618 in 3 months. Al this Tale, how much will he earn in 2

years?

QW

Ans §

Z0. Find the value of

20+10+ 18+ 17 +16~15=14-13-12-11-10+9+8+7+6

5-4-3-2-1+0.

cve shared 450 sweets. If each of hem received 54 more
of the number of sweets shared by Diana, Linda and Eve
{s did Diana have at first?

27. Nizha, Linda and

sweels, the new ratio
would be 3 : 5 4. How many swee

3
7 S . Ans: e
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28 The figure below is not drawn to scale. The perimeter of the figure is 54 m. Find
ihe shaded area. .
i4m \
Ans: . m*
29. A car travelled 1204an-an 10 ¢ petrol. if the car were to travei 1260 km,

beginning withe full tank. how many times must the driver lop-up the fuel tank,
given that thre capacity of the tank is 50 17 )

P5 Maih SA2 2007 10



30, Nrs Lim can type 87 words in one minute. At the same rate, how many words
can she tvpe from 1 pom. 10 3.45 pm.?

Ans:

- - 2
31.  The cuboid below has a square face of area 64 cm®. Thelengthis = its
height. Find the volurne of the cuboid.
- N -1 1
64 Cfﬂz / )
Height
e

95 Ans: o’
P5 Math SA2 2007 : 11 7



27 The figure below is not drawn to scale. Figure ABCD is a paralielogram.

"33. 40% of thﬂ erasers in a box are purple. The rest are blue and greﬂn erasers in
the ratio of 11: 4. There are 48 fewer purple erasers than blue erasers. How

 many erasers are there altogether?

PS5 Math SA2 2007 12



34 The figure below is not drawn to scale. GRS is an equitaterai iriangie. Find the

sum of ~ v and / w.

Ans:

Randy uses 20 bowls of water to fill 0.25 of a fish tank. He uses another 20
bowls and 26 bottles of water (o fill the rest of the fish tank If each botile can

LERR B L0103

hold 0.75 iitres of water, what is the capacity of the fish tank? -

(oY)
()}

Ans: - litres

7

P5 Math SAZ 2007 . 13



For guestions 38 to 48, show your workinig ciearly in the space heiow each
guestion and write your answers in the spaces provided.

The number of marks awarded is shown in bragkets { Jatthe end of 2ach
guestion or part-guestion. {50 marks)

36, Siva has a totai of 30 pencits and notebooks. If he exchanges every notebook for
2 pencils, he will have 50 pencils. How many notebooks does Siva have?

Answer: 3

37. Jun Wet and Ahsad had an equal amount of mgﬁey. Each day, Jun Wei spent
£36 and Ahmad.speni'$2‘!. When Jun Wei used up all this money, Ahmad stil
nad $525 leff. How much did each of them have at first?

Answer.
5 3 Q%

L AiF~al. € AN NANT 14
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25 inthefigure below, not drewn to scate, HL = 18 cm and EH=22cm FG = GH
WK = KL 2nd EJ = @ om_ Find e total area of {he shaded parts
AnsweT _ - [3]
3g.  in the figure below not drawn o scale, AB and CD are straight lines. H ./ xis

ihree times as large

as / y, find the differentce be

Answer.

tween £ z and £ X

kN~



40, Draw atriangle ABC inwhich AB = AC =56 cm and ~ BAL = 80°. Measure BC.

ANSWEi 131

A1, A container weighs 22 kg when filled with Liquid B. The same container weighs
' 7 kg when filled wiih Liquid C.if Liquid B is 5 times as heavy as Liquid G, what is
the mass of the container? o = . ‘

Answer, 131

PS5 Math SA2 2007 ' - 16
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Celvin made a bottle of paper stars. Tha number of paper
Lt : L .5 : i y N
stars Dobby made was 21 more than 7 the otal number of paper stars in the
_ 1
botlle. The number of paper stars Ecward made was 30 more than 7 of the

remaining number of paper stars in ihs botile. Kelvin made the remaining 114

paper stars. How many paper stars did they make in all?

Answer:

B and C are three numbers. The average of A, Band L 15 5 greater than the

43. A
average of A and B. i Cis 38, find the total of A, B and C.

-gof

Answer: [ 4]

JRRS—

1|
|

4
N
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.
44 A big rectangular tank measures B0 cm oy Gl em by 40 om, is filled wiin
wainr _ of a smaller rectangular tank is aiso filled with water. The ratio of the
5
-

volume of water in the big rectangutar tank to that in the smaller rectangular tank

LAY

is 3 : 2. Find the capacity of the smaller tank in litres.

Answer. _ [4]

{072

5 Math $A2 2007 18



A box contained 50¢ coins and 20¢ coins in the ratio 2 . Peter tock out four

ins, exchanged them for Z0¢ coins and pul the money back into the box.

504 o
The rafio then became 2 1 7. Find the sum of mone v in the box at first.
{bf)
Answer. - [5]

N

P5 Math SA2 2007 : 12



A6 The following shows a solid made up of cubes of side 4 cm.

(a) Sind the volume of the solid o
(b) I iding Hul decides 1o colow green, find the lotal area

..“"’,1
=
@
%]
I
s
0
o
4]
o
3
o
v
]

that he has i colour.

27
“0¢ (3)

Answer:

e e
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A7 ABCD s a rhombus and CDEF is a square. £ DAB is 124°

Find {ay £ BDF
by £ BFC

[3]

[
5
(o5 ,
: Answer:{a) _
by 121
i i 5 3
P5 Math SA2 2007 21 ~
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48. D

O

vi's salary and Minah's salary are in the ratio of 4 © 5.

increased by 80%, by what percentage must Minaiv's salary be increased so that

thair nalzries will be the same?

Answer:

¥ Devi's salary is

[3]

166

P5 Math SA2 20067
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16,

3.

26.

28,

340,

32.

Al Tong Primary School

»

Primary 5 Maths 5A2 Exam (2807)

o T o s e Q5 fl
4 L 3 1 2 P
lj _(77Q6_ I Q7 Q8 Q9 10
3 2 1 2 4
Qi Qe 013 014 015
- 2 z | 2 I 4
6 17. 15876
7
6-- 9. 7 : 10
]
220 2%, 138g
&0 23, 834
2430em? 25. $28944
59 27. 99 sweets
30 Z29.
16085 words 31, 1280em®
9g° 33, 1280 erasers
146° 35, 39 ltres
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34, 26 notehooks

37 83 Lt

383, 22¢m - I = 1licm

icm

o
o=

— % Yem
2

= 49,5cm’

1Bemm —+— 2 = Jem
!

— % %em x 9cm

= 4. 5em?
(40.5 + 49.5)em* = %em’

32, L% = 183° — T2° - 108°
1682 -+ 3 = 36°

i

Lr o= 186° — 36° = 72°

= 148° - T2° = 3¢§°
40. 7. 7em
41 3.25kg

42. 284 paper stars
43. 54

44, 8Gem x 6Dem x 40cm = 192040cm’
i x 192000cm = 48008cm?
480000m® = 3 = 166806em®
16000cm® x 2 = 32000em®
32000cm® — 4 = Sit0cnd?®
8000cm® x 5 = 48680cm®
= 401
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dem x dem  dem = Sdowy’

b
=2}
w

2ot has 13 cubes
Giem?® x 13 = 832em”

4gh,  Gilemy’

47a.  186° — 124° = 56°
256 + 2 =128
G 2 = 45°
ZBDEF = 45° + 28°
= 73
47h.  124° + 906° =214°
3600 — 2140 = 146°

150° — 146° = 34°
LBEC = 340 5 2= 17°

48, 4%

Page 3 of 3



